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MATHCMATICS

By Pradeep Sir

Ql.AeondothO-:-dcytwhkleondo
same work in 16 days. How long (in days) will
it take if they do the work together?

A U BT 6- Ra A &2 qda § wafd 8 38 &1 B

16 Ra & &2 Fwar ¢, A A+ Aese 30 15 3
fFaaRaAqiasz 3N

(8)5-:

(»)) s-;-}



MATHCMATICS

umwmhﬁunwm
F&ar 21 af? 310 Ra & Bv ves Ty &1
®a £ A s &1 faen sier a9 A ?

OF

(0)>



MATHECMATICS

Q3. A can complete a work in 20 days and B
can complete the same work in 25 days. If both
of them work together, then in 3 days what
percent of the total work will be completed?

A S HTd B 20 Ral A g1 2 H®Har ¢ aen 8 34
&1 @) 25 e # g1 B2 Fwar 21 af 2= Aes
& &2, @ 3 # = o &1 fFaen wfdera

&1d g1 8 AT ?
(A)9 (B)12




MATHECMATICS

By Pradeep Sir

Q4. A can complete 50% of a jobin 9daysand B
can complete 25% of the job in 9 days if they
worked alone. If t worked together how
much of the job (in %) can they complete in 9

days ?

A 9 R A 50% &TH g1 S AFar ¢ e s o Ral F
I8 BTHA BT 25% Y2 S TSl 21 a2 A IS 35S
sasEaligRIvs A BTA AL NoORAH

fasn & (% ) A asarg ?

(a) 80 (B) 90
(D) 100



MATHECMATICS

Q5. Amar can complete a work in 7.5 days and
Raman can complete the same work in 12.5
days. If both of them work together, then in 4
days what percent of the total work will be

completed?

oz v &1d &) 7.5 Ral A g1 sz F®war § aen
e 32t &1l @1 12.5 Rl A g1 2 J®an 81 afk

A&l fAe®e 4 Ra o1d &2, @t & &1d &1
wfdera & ge1 21 Ao 2

(A) 82.5% (B) 80.1%

(©)75.5%




MATHCMATICS

p By Pradeep Sir
' -
3-A— & =423 e Q6. A can do 1/5th of a work in 4 days 1/6th of

the same work in 5 days. In how many days
— they can finish the work, if they work together?

L98 = — %523 3ed Ammmlﬂ'mlﬁﬂﬂwml
- 32ft &vd &1 1/6al a1 5 Rl A s awar 21 alk @

Lem -co | 00 @ @ &1 ®2a § at 33 &1d &) aa

RAlAgrszasat?

ws

‘—-:;\"; (c)20 (D)15




MATHCMATICS By Pradesp Sis

Q7. M can complete 3/4 part of a work in 12
days and N can complete 2/7 part of the same
work in 8 days. In how many days will both
complete 11/14 part of the total work?

uumzfmaumuﬁaimmgmu
3t mw o 8 RRar & &2 I ar 21 2
@z 2 S &1 1/14 o1 faa Ra A w3 2

(B)9
(D)6




MATHCMATICS - -

Q8. A can do 2/5 of a work in 12 days while B can
do ¢¢ %/ of the same work in 16 days. They

P work together for 10 days. B alone will complete
S _g_ s It % 2 the remaining work in:
o A v BT & 2[5 o1 @Y 12 el A, wrafds g 3
: Lem- 100 | BRS 6 5 amn®) 16 Rall A g1 &2 F@ar 21310
J %10 = B R ad v @l fResd: &1 H2a 21 or &1 3 8
= 0| S fsaa R A

3o | mismzame

« 0 a0
= 3 €2

(C) 8days (D) 9 days
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By Pradeep Sir

Q9. A and B together do a job in 6.75 days and A
could do the job in 9 days if he worked alone.

How many days would B take to do the job if he
worked alone?

A 32 B @@ v &1 6.75 Rall A g &za ¥ sz

A 3&S aft s 9 e F g1 B2 Fwar 21 afk 8

ﬁammmmmnmwmam
SN ?




MATHEMATICS

Q0. A and B can do a job in 10 days
respectively. They worked together for two
days, after which B was replaced by C and the
work was finished in the next three days. How
long will C along take to finish 60% of the job

?
A 302 B &1 &) a2 10 32 5 e A 2 a@Fa
2 v @y fAs®e asamfm!
ARBFRATZC fafkadA

!mtztczammmmm
HeIM ?

(A) 30 days/fR= (8) 25 days/fR&t

(0) 24 days /R



MATHEMATICS

QNl. X can do a work in 3 days, Y does three
times the same work in 8 days, and Z does five
times the same work in 12 days. If they have to
work together for 6 hours in a day, then in how
much time can they complete the work?

xfFfisdBsRaAszasa y3fiasd S
M s s RaA s awar 2 iR z 3t ord &

gig A &) 12 Ra A &2 aFar 21 af? 3 v Ty
mgoammt.mmmmmw
mim@’mmmdn
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By Pradeep Sir
od
—y J - o
L e r [ 3’ le.AeondooMlnM;dcy:.lcondonh
2 1
lG;daytondDeondoltlnagdoytondA.l.c
- 08 - ’6—9’, and D together can do the work in 5 days. In

how many days C can do it?

3~ 3 3359 ”—Z’,B» A 52t &1 #1142 R A B2 awar § 8 st w3

Ao A*Q “F43=53 m-ﬂaiuzmtamouﬂmu’tas-u.s c
) 3z 0 ez B B! 5 Rl A Bz @wa 2, At ¢
@4— Lem= | oo

W1 I8 H1d B fFaa ) A s
L
@ Cx l??jg D | (c)20 (D) 40

wa




MATHEMATICS

By Pradeep Sir

Q13. Sandeep do (+)th of work in 10 days, Kapil
can do 40% of in 15 days and Devkaran
can do (1/3)rd of work in 13 days and RajKumar
can do 37.5% of work in 17days. Who is less
efficient?

&g, 10 S & 131 &1 (L) o9 B2 FSar ¢, sis
wﬁa'falmmmugmtnﬁztamu
sl & &1 &1 (1/3) o BT FHar 21 3R

17 3 & ST BT 37.5% A1 B FHAT £ ATd B

& B Tad s
N







MATHCMATICS By Pradesp Sis

3 =4 %:ll > 307D

QIJ.AondBcondo%ofworklnlzday:.aondc

ngthommrklnIOdoy:&CQM
- @+D-‘ —é‘:’c’ 9 60D condo;—:lnladoyt.lnhowmonydcyska
and C can do this work together?

.

Q — [Ch{A] - ‘;°='3;3o:b nﬁz-‘ HaTS BT BT - 01 12 Rar A w2
a®a 21 8 au ¢ Aewe 320 &1 B116 2% 319710

5 3 A+8rC) lKm= o s & B2 F®Ha 21 ¢ A A RSS2 TATSH STA BT —
r o1 13 5 A B2 awa 21 A el Reswe S B
O R ®ea A faen Fara S9N-

Gov 4 217 (8) 25 Days

——

Jae-
“QES, ‘ (c) 36 Days (D) 20 Days




MATHECMATICS

By Pradeep Sir

QI15. A can do one-third of a work in 15 days. B
can do 75% of the same work in 18 days and C
can do the same work in 36 days. In how many
MMHMOWMW

A f5eft &1 & ves-fagrd &1 15 Ral A &2 awan 2
B 32t &1 & 75% a1 #Y 18 Ra A 3z ¢ 32ft rf
@1 36 Rall A &z Fwar ¢ Al Ao s B
faa Rat A w2

() days/Rell# (8) - days/Rail &

(c) 5 days/Ral# |(0) 7 days/Reif &
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By Pradeep Sir

Q16. A and B can complete a task in 25 days. B
alone can complet 33;-[00 the same task in 15
5 - B — é:lS‘ D Y52 days. In how many days can A alone complete

%thoﬂhosomotalk?@
wd AR i sd s s RaA g sz awa 2 e
CE I | ivmrawd ezl ). SsRasAg@ae

< S ¢, A A BA A HSS1 IA S1d B Al A
A= 25 )0 fdaa RaAqusm?
A

e

A =157 (c)18 ()12

e




MATHECMATICS

Q17. Working together A, B and C can finish a
piece of work in 3 hours A finishes the same
work in 8 hours, B finishes it in 6 hours. How
long will it take for C alone to finish the same
work?

U T BT H2a T A, B 32 ¢ fFft srd &) 3 62
A TG HITAPAeIANDI I BId B sue A

AT Heal 2, 32 B ST IA 6 U2 H FaTa Hal
2icamd & fFaa
He A JATG HIN ?

(A) 2u hrfe2 (8) 15 hrfu2
(c)18 hrfae (D) 12 hrfE2




MATHEMATICS By Pradeep Sis

Q18. A can do a certain work in 15 days. B is 25%
more efficient than A. Both worked together for
4 days. C alone completed the remaining work

in 8 days. A, B and C together will complete the
same work in?

At ffasrdst s Rl Ascasartie, AR
25% 3@ Hers 21 2ell & fRe®e 4 el as B
f&an c & 35S oy &1d 8 fRa A gz fdan A, B

R c Ae®e 32 &1d &) fFaa Rl A Rra »
(A)Gldayslﬁat () (8)6! days/Rer




MATHEMATICS

— LA B
o - A 19 T- 4s J Q19. A and B can complete a piece of work in 15

By Pradeep Sir

T & & days and 10 days respectively. They got a
-~ = B = 10D Q—‘-’-? 2| contract to complete the work for 75000. The
i share of B (in) in the contracted money will be:

LC\”“3°J A 312 B fa5zft &1 &) waer: 15 Ral 3z 10 Rt A
& THA £ US STA B ¢ 75000 A R HA &
A+e:= 5 Jot oo (Wigae) Ao & &t A B &
Y 2= (2 &) 2o

== 15000 | (A) 35,000 (8) 40,000

A 5
(o 0 0 o0




s am MATHEMATICS By Pradesp Sie

Q20. A and B can complete a piece of work in
4.5 days and 9.9 days respectively, They got a
contract to complete the work for 80000. The
share of A (in) in the contracted money will be:

A 3012 B 5l 151 &) AL 4.5 RaT sz 0.9 AT H
gmmtlwmmumi FAD
Jog o1 (Higae) Ao & & A A S

fézn (2 &) 2om:

(A) 2 45,000

(c) 240,000 (D) 235,000







MATHEMATICS By Pradesp Sis

h— A = E3hrs
Q21. if A had worked alone he would have taken
308 63 hours to do the task, What is B's share, if A
and B work together on a task finishing it in 36
—-,_ﬂéfi >, 34 - hours and they get paid Rs 5,950 for it?
= af2 A A 3SS &1 5 a1 A 98 A BeA S
@ f3v 63 42 3an 8 mﬁgm%%:
Lem - TS AT HIA 36 AT
zaa fAv 5,950 ST &1 aPTaTa fFaTATan g 2
RS0
A - TAXM “SMo0 (8) 3600
350 (D) 2750
B = ‘ggs'o Jflﬁ 0




MATHECMATICS

Q23. A can do a work in 8 days, B can do the
same work in 10 days and C can do the same
work in 12 days. If all three of them do the same
work together and are paid Rs 7400, then
what is the share (in Rs) of B?

At Bd @ s RaAszasart, s 3t srd &0
el A B2 a@ar ¢ aan ¢ 3 srdf & 12 Ra A 2

a&ar 21 af? @ = 38 &rd &) Ty A Aes Ha
zamﬁc 7400 &. RRe ard €, at s &1 Rz (5. )

(0) 2000
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020 .4A s ‘ AO“‘YS g
s 8 = 8 houn Q24. A, B and C individually can finish a work in
| 6, 8 and 15 hours respectively. They started the
2 - 18 houvs work together and after completing the work
= got Rs.94.60 in all. When they divide the money
among themselves, A, B and C will respectively
get (inRs.)
32,,2‘0 A, B 3R c 3> et H1a1 & Haer: 6, 8 3 15
A_. — RV 3y, Ul A Q@1 B2 A@a 81 Hoft A v e T 2
“43 2 BT JATE 1A U2 I 2 94.60 fAS Ha sual
. 22 & RanfAa fFar oA al A, B, ¢ &1 f2zan aansi
Ny == —x |5 A 33
2 {bg 43,27.20,24.40
foms % 5, 30, T9.6C d) 42, 28, 24.60
C -




2= 8-> 5Y houm

J—-A+
/

L,

+¢ - |Q'\_Dth§

s

'3

MATHEMATICS

LCm= 10R
454 20
*"?‘X/%’

By Pradeep Sir

Q27. Working alone A can do the task in 27
hours and B can do it in 54 hours. Find C's share
(in Rs) if A, B and C get paid Rs 4,320.20 for
completing a task in 12 hours on which they
worked together.

HHS BT Hed EC A 27 5 A ST B! Q@1 B ASal
2 3z B 2& 54 U2 A 2 TAGAT 21 C BT BT AT
g;luﬂxnﬁzcmuﬁtiwmqamt

4,320.20 &. 1 apTaTel fRean 2, fAd w2 3sgia
U Fe ST fadan

ﬂ 960.06

C)1920.06 D) 1280.06



MATHEMATICS

By Pradeep Sir

Q28. Ssandy and Mandy do (8/13)th part of a
work and the rest of the work was completed
by Andy. If Sandy, Mandy and Andy take the
same work for Rs 2626, then what is the share

(in Rs) of Andy?

A8t aen A v &l &1 (8/13) af 4T B PRI Hed
!amaumzfmasmézl wran 21 afe A

A qen O T BT B 2626 E. A 34 £, A oA
&1 2z (5. ) fBaan g ?

(€} 500



MATHEMATICS

By Pradeep Sir

| — Am - 30D Q30. Amir and Akbar can finish a task in 30

days and 15 days respectively. Akbar worked

2 Ak — 152 on the task for 8 days and left the job. In how
J many days can Amir alone finish the
remaining work?
LEm:= 3,
Ak-> 8 %2 : Bt 3fAz 32 sFpae v Sd Haer: 30 32 15 Rall A
? " e Tda §) Adae A 8 el I 30 W HH B
Iy are & 813 f2an ardl a1 a1 &1 nfae fFaa

- RAl A s TSaTE?

f\m'r = J‘%" (A)14 days/ fR= (B) 15 days/ @&

(c)16 days/ st (D) 17 days/ &=t




MATHEMATICS

Q31. A can complete some work in 35 days and
B can complete the same work in 15 days. They
worked together for 8 days, then B left the
work. In how many days will A alone complete
60% of the remaining work?

A, it & &t 35 Rar & 2 awar € 3 s 3
&1 1 15 a1 3 g1 B2 A®Har 21 Isgial v A 8

fRer o & f&a1, 3a& T 8 & &1 Bz f2an
WSS A 24 ST & 60% T B fbaa Rar & gz
HeIN ?

s 10




MATHEMATICS

By Pradeep Sir

Q32. A and B together can complete a work in
20 days. They started together but after 4 days
A left the work. The remaining work was
completed by B alone in 24 more days. In how
many days can A complete the entire work
alone?

A T B Ut &1 &t f[Ae®e 20 fa & g1 &2 a&a
v Srd S ARd Bat g4 Rl &

are A &1 813 2a1 21 2 BT B A4S 24 AfAR®
fRal & g1 ®ean 21 A gl &rd &) wde Faa
Rt Aqr s asar g ?

(c) 5 (©) 60
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By Pradeep Sir

Q33. A and B together can complete a work in

2
67 day. They started together but after 5 days A

left the work and the work is completed by B
after 6 more days. A alone can complete the
entire work in how many days?

A a1 B TS BT B! fAe®e 6 Ral A g1 &2 awa
213 vs A BT St A Head E ueq 5 Ral &

arg A &1 B3 2ar & aen 2y & HeA A
eﬁ:lahzgatuutmnq:fmm

Rt A sz asar g ?

110 2
(A) = O

(€)= (D)=




MATHEMATICS

By Pradeep Sir

Q34. A and B together can complete a work in
20 days. They started together but after 4 days
A left the work. The remaining work was
completed by B alone in 24 more days. In how
many days can A complete the entire work
alone?

A T B Ut &1 &t f[Ae®e 20 fa & g1 &2 a&a
v Srd S ARd Bat g4 Rl &

are A &1 813 2a1 21 2 &1 B A4S 24 AfAR®

fRat & gz1 ®ear 21 A aFqef &rf &) 3o faa
ﬂa’mgmmt?

(A) 75 (B) 25

(c)as (D) 60




MATHCMATICS

Q35. A, Band C, alone can do a piece of work in
9, 12 and 18 days respectively. They all started
the work together, but A left after 3 days. In
how many days, was the remaining work

completed?

A, B 32 Cc & fft &rd & saver: 9, 12 32 18
fg%mm!’namﬂaﬁmmm

&
fsaat
(a) 2 (8):

©%

*Ba’ltmu\mmﬂmlmm
qigan»




MATHEMATICS By Pradesp Sis

Q36. A and B together can do a piece of work in
10 days. B and C together can do it in 15 days
while C and A together can do it in 20 days.
They work together for 8 days and A & B left the

work. c alone will complete the remaining
work in:

123 F(A+BC)

-52
[Ness o SuE A 312 B fA@ase fbet 11 &1 10 e # &2 a@a 2
Q_éj ° SR8 B 312 c fAe®z 3t &= &1 15 Rl A &2 a®a

c . 5 vafdc iR AfAesz @ 20 R A sz asa 1 a
X8 2 Hoft 8 R % U A1el 13 BIA £ AT THS AT A

- mag?mmmtlcmmmm
C= 3%, )49 pen——"

OF = (A) 12 days (B) 3! days
08t o
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By Pradeep Sir

Q37. A can do 20% of a work in 4 days, B can do

33%0! the same work in 10 days. 3 They worked

together for 9 days. C completed the
remaining work in 6 days. B and C together will
complete 75% of the same work in:

A f5eft &1 &1 20%, 4 Ra1 A g1 B2 Awan 2, 8 3
sd@I3, oAy seasatidofRa s

fBv v mne B Hed 21 ¢ o Bl B 6 e A
®edl 21 B 3 ¢ v Iy It wrf @1 75% fFaa
R A gz &2

(A) 12days/ a1 (B) 15 days/ @&t
(c)10days/ Ra (D) 9 days/ 3=
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By Pradeep Sir

Q38. A, B and C can do a job working alone in

4 =58 » 352 50, 75 and 20 days respectively. They all work
together for 4 days, then C quits. How many
R s A0 8 days will A and B take to finish the rest of the
job?

= A, B AT C HSS H1A Hea ge fd H1ar &) waer:
A5 % L 50, 75 312 20 fRa & gz1 S Sa T A Faft az =

wmmmz aen f5z ¢ &1 B1g 2a1 2199

= 100 K- U BIA B ATATB Raf A g sz N2
A*B" 3\,0; (B) 30

(D) 24
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By Pradeep Sir

Q39. A, B and C can do a job in 6 days, 12 days

and 15 days respectively. After - of the work is

completed, C leaves the job. Rest of the work is
done by A and B together. Time taken to finish
the remaining work is

A, B 312 ¢ f&5eft &1 &) warer: 6 Ra1, 12 Ra1 3w 15
RaAguiaseasatl- s P ATARS AR C

S B A i A B A e B g2 Hea
ol &1d Y21 Heat A fdaen aAa &N ?

(a) 5; Days (8) 6;Days
(C) 3;Days (D) 3; Days
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By Pradeep Sir

Q40. 3 men A, B and C can complete the work
in 10, 12 and 15 days. A, B, C start work together
but A left the work after two days. and B left the
work 1 day before the completion of the work.
In how much time the whole work will be

completed?

3 3meat A, B 32 ¢ &t &1a1 &Y S 10, 12 31215
ﬁaimmtliﬂa?mﬁmmm:g

®ed Blzae
B u&% mggmmtt' kO

DA T A A fBaan aAqT SN ?

®2

(c)e (D) 5






MATHEMATICS .

63"!4 —> Ha"')zﬁj)
. Q41. 3 men A, B and C can complete the work in

s 17, 9 and 11 days. A, B, C starts work together,
1-8 — I 7 ' A and B left the work 2 days before the
completion of the work, then the whole work

100 = 1D KIS Lcm= 1100 || will be finished in how many days?

3MA,BWCMWETW&:H%,#'29:—‘

(A +8)xa oo 1| a1 & B2 Fesa 21 fialt & Zmer fAa®e S
+ by, ®eal 2[& a1 A 3 B & &1 &t 21t & 2 RRa
(99 +)a) ) TG UES Bl Heanl BIg R, at Farsi g1 s1& fGaa
RaAm=ngan?
2201\2:-‘;{:“0 33
il ()3 (8) 4
23y

h=> 1| e OF Ok
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By Pradeep Sir

Q42. A, B and C can complete a work in 8, 16
and 24 days respectively. They start the work
together and A works till last moment. If C
leaves the work 2 days before and B leaves one
day before the completion of the work, in how

many days the work will be finished?

A, B 31 ¢ &t &1t &1 a2l 8, 16 daT 24 Ra &
AT B¢ TAda &1 dta Ty Rase srd e

&2a £ AT A 3od a9 1 Hedl £1 C BTA A A
A 2RAUES 9 B BTH T 21 A v a1 1z H1 A
Bi3 2a1  at 99l $o s faa R A Fema

g~

(A) 8 days/ @ (B) 5 days/ a1

(c) 6 days/ fRst (D) 7 days/ @&



MATHEMATICS By Pradesp Sis

Q44. A and B working separately can do a
piece of work in 10 days and 15 days
respectively. If they work on_alternate days

beginning with A, in how many days will the
work be completed?

A 312 B f&5eft &1 &Y 3S91- 391 waer: 10 e 32
O 15 Rt & g1 &2 Ia §1 Al A vsiae o & S

. ma!k;‘?_%mﬁaqaﬁ&a}m
| faat g1 &1 ATeIm ?

(A)8 (B)6

o
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By Pradeep Sir

Q45. A and B separately can build a wall in 6§

1
and 8: days, respectively. If they work for 1 day

alternatively, starting with A, in how many
days will the wall be built ?

Amammmmmmmm;

3z 8- a1 A B2 T®a &1 A A o[ B, IR A ardl-

T A uds R s1d B2a £, At faa e A Aar
&1 faarfor g1 @ Amean 2

(A) 75 Days (8) 12 Days

() 6; Days




MATHEMATICS By Pradeep Sir

Q46. Machines A and B always operate
independently and at their respective constant
rates. When working alone, Machine A can fill a
production lot in 3 hours, and Machine B can fill
the same lot in x hours. If A and B worked
alternatively, while each work for 1 hour at a
time, the total work gets completed in 4 hours.
What is the value of x ?

FAeftS A a2 B Tda &9 A 39eit-3gstt S eraar

+ax3 = 3X A &1d Hedt 21 FAefist A 3FS 3 e A ard Foma
QAL & Addl g1 au A2fter B Tarat &1 &Y x vl A B2
dxy ¢ = 3% TSl 21af? A qen B BfA® su A 1-1 69 Hrd & at

Emlﬁimﬂmlxmmm

4

(©)4

x=6 [




MATHEMATICS By Pradesp Sic

Q47. Two women, Ganga and Saraswati,
working separately can mow; a field at 8 and 12
hrs respectively. If they work in stretches of
one hour alternately, Ganga beginning at 9
a.m., when will the mowing she finished?

21 ARSTE 3o 3 FTEadt 3S9- 3439 1 B
SaS HaAek: 8 3T 12 vl A He St 21 af? d

1-ardft & vH-vd e S B JAT I 9 FA
5HG Bl 2[E Be dl Beoll Hd dd HaTd g

B) 6:30

- § — |2hv

X xY Q2 3

Rhr N _gAm
N D +qph
Dhe B 18 %0

*J&'h* ‘3( D g2
Y
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By Pradeep Sir

Q51 A, B and C working separately can do a
piece of work in 11 days, 20 days and 55 days
respectively. In how many days the work will
be completed if A is assisted by B and C on
alternate days?

A, B 312 ¢ &t &1d &Y 3ra91- 31391 Hae: n 24,
20 2= 32 55 Ra1 A B¢ A®a 2| fFaa el A &rd
AT 2 ATCIN, Afe A UHiae A A B 32 C & TATY




MATHECMATICS By Pradesp Sic

Q53. A, B and C can do a piece of work in 10, 20
and 25 days. How much minimum time should
be required to complete this work if more than
two persons can not work in a day and in any
two consecutive days same pair can not work?

20 A, B 312 ¢ faeft &1e1 &1 10, 20 312 25 Rar A T
A< ®ed £ 38 BIA B! AH ool A fbdell geidd
W] -- | @ | a2 ves fRat & 2 & vt aafs &1 sigl

mmm AT oA 3l FInare et A srd sl
S ADBA ?

13 13
(A) 7 days (B) 6 days

(9] 6:—2 days D) None of these
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Q54. P is 20% more efficient than Q. If Q alone
can finish a work in 10 days, then in how many
days P alone will finish the work?

;rga 20% s Sdgers 2 Tt
a‘lnoﬁa’fﬂ;ammt.a’lpm:m
&1d & fdaa fEa A geraemn ?

(B) 8.5

(D)12
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Q56. To do a certain work, the ratio of the
EFFi 1 @ & efficiencies of A and Bis 7: 5. Working together,

they can complete the same work in 17% days. A
alone will complete 60% of the same work in:

L 5 3 o fAffa s sea & Br A 3k B & &
Tw:- S Persdl &1 AHeurd 7 : 5 81 U A fAase s
3 *} ®ed ge, A 32 & 3 17; Rar & g1 e J@a 2
MAmmﬁeoxﬁaazﬁaiwm?

A= 18D )

(8)16 days
C) 21days ’ days
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B
_ _ A Q57. A is 25% more efficient then B. A works for
£ 9 e Al 2y days and completed 1/ 3 of work and left the
et 5 4y . P+ work and Remaining work is completed by B in
= ) ‘D +12" day. In how many days A and B together
o f-;’ can complete the work?
S Sy ) Yoo+ 8o A, BA2s fde s pera g, ABE s D RAHA
wo+r)y & — Hedl ¢ 3T BHA &1 UH (gl Yl deal ¢ fbe B
E’lgi‘iﬂ%l 2y &1 B, D12 a1 & ge1 Hear g atal
0= YD+ 4R fe fAo®e RaASARI sz aSAL?
6D =u8 3
28 L | wwsm

(C)12days (») 12; days
A8
3
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B
T=e Q58. B is 20% more efficient then A. B start work
é and do x day and after then B replace A. A
complete the remain work in (x + 8) days. Ratio
of completed work by A and B is 3: 2
respectively. In how many days A and B
together complete the whole work?

B, A & 20% 3iftles Hrdfees 21 B A Hraféal faarvd x
Rl o &1 fBan zad ae B it A9 A BIH
&t SINM A A 29 BTH (x + 8) st A ggr fBamn A

eﬁa‘ggcmmm 3:281A3RB
a’laL/ 3 B1A B fbad feal A JATE HeIl ?

(A) 13— day (8) 12~ day
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Q59. P is four times as efficient as Q. P can

complete a work in 45 dgs less than Q. If both
of them work together, then in how many days
the work will be completed?

P &1 AT Q A TR I 21 P UH B B! Heat A Q
& g1 3T e Jo7a & 45 a1 &3 Sa1 21 af? et
fAo®e Bl ®ed § at &1l fbaat faa # gergomn 2

(B)12

(D) 30
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Q62. A is 1.5 times efficient than B therefore
takes 8 days less than B to complete a work. If
A and B work on alternate days and A works on
first day, then in how many days the work will
be completed ?

A, BRALS 2 g, 3efifde ag ves &1l &t
;W:I%m#m £1 A 9T B U&ide

uzmthAmﬂﬂzﬁﬁamt

a’lmzfﬁsaa\ﬁaﬂqzmm’

D) 2]
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™M,
- s dixete Q68. If 8 men can do a piece of work in 14 days,
s then in how much time (in days) will 7 men do
W2 A rete the same piece of work?

. af2 8 ysy fabeft 1e1 B1 14 e A 1 e Twa £,
R W rdinets  mayuisdayed 7959 S B B fdbaet @era (e #) qeI BN 2

ok

W

8m I Iy 9
(c)18 (D) 20
‘lm><‘><:"-3

&Y\XXQSJ o SR ED

4

A"
X=-6D A
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Q69. 38 men can complete a work by working 6
Hrs per day in 12 days then calculate in how
many days 51 men can do double of the work
by working 8 hrs per day?

38 31t 6 gue ufdfest o1 Hedh fHhat &1t &1 12
fRa A T Hea 1 Fird HifAe & 51 et 8 gue
wfafes H1e1 Heds I8 A I[N B fdbdal faat B

(A) 56 days

(C)14days D) 128/17 days
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Q70. 6 persons earn 8,400 in a week, if they
work 8 hours per day then how much amount
would be earned by 9 persons in a week if they
do the work 6 hours per day?

af2 ¢ aafsh 8 He wfdfesr &rd seads ufd 2
8,400 3ifAd ed g, at 9 =fhal grer 6 e
&1 B ufd Iarg fcia &t A arest 2ifel 219fi-

() 21,350

C) 29,000 (D) 27,200




MATHEMATICS D

Q71. 40 persons can do a work in 15 days if they
work 8 hours per day, then in how many days
60 persons can complete the double work if
they work 4 hours per day? If the work done by
3 persons of first type in 2 hours is same as the
work done by 4 persons of the second type in 3

Uoxd x Ba UB vy | hours.

gj\xa«xxn X- 80 40 3reaft, 8 "ve Ufdfdst ST Hed TH HIA Bl 15
o W || Rt 3 w2 @wa 21 aa 60 312 Tfafeel 4 TV BIa
Hed IAA SN BIA fddet fdel A T Hedl ? Al
UES U & 3 3eat 2 Hue A Iqen & HIH Hed 2
fAaen g 4 aufh 3 ave A Head 2

(A) 25 days (B) 30 days
(c) 80days (D) 35 days
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By Pradeep Sir

Q72. If 6 men and 8 women can do a piece of

(6 m+ & w)x T S (| 3m +Quw)xy | work in 10 days; and 13 men and 24 women can
= do the same work in 4 days, then what is the

ratio of daily work done by a man to that of a

6om + 8ow = 5'im+°]_c_b$ woman?
e af 6 302 8 ARSI v &1 &1 10 e A
e T araaag%mlswaﬁnamﬂmnﬂmg
4 a1 A Q@1 &2 AFaA ¢, a vas Rl A v [&u gren
2 fée 1T &1 &1 v et A ve AfRST gt fabe e

s '\'3
7

B A SUTA FATE ?

C)4:3
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Q73. 35 persons are engaged to complete a
work in 60 days. After 32 days it is observed
that only (2/5)th part of the work has been
done. The number of persons to be engaged to
complete the remaining work in the said
riod is

&d & 60 Al & PRT Heat & BT 35
AfdGadl B SINAT ATl 132 1Rl & d18 Ial aesdl
g & &1l &1 yégs%mmﬁ 2 U 21
Iy & &I IH f3v fdaa
fdal & memﬁvﬂa

(A) 20 (B) 35
(c)30 (D) 25
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11— A — I hvs Q74. 2 men can build a wall in 12 & 1 hrs
respectively but if they work together then
they use 300 less bricks per hour & build a wall

1> B8 —s 1] hvs in 6 hrs. Find the no. of bricks in the wall.

| —

2 3 a1 et v dlare & waer: 12 gAT 1 HE H Fan
ADA g1 Sfdbel 1d T SNail A1 HIA Hed &, al 300
¢ Ufd 5veT S FINa € 312 diamr &Y 6 5e A Fen
2a &1 dtar aoia A po fel it AEm ATa B ?

(A) 41526 B) 39600
| —— Zoo (c) 25632 D) 42600
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Q75. 25 men can reap a field in 20 days. When
should 15 men leave the work, if the whole field

——

|
is to be reaped in 37; days after they leave the
work?

25 3Tl T @Ad B 20 25 A wild Twa g1 at A1
&IfAA 15 el fFaa R arg &1 81z ¢ & 306

aTe 2y 3t gen1 Aq 37; Ra Avita 7d 2

A) After 4 days (B) After 6 days

(D) After 3 days
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Q76. 4 girls can do a piece of work in 8 days, 3
Unxg= 3 G boys can do the same piece of work in 2 days

and 5 women can do the same piece of work in

2BxQ =2 €8 4 days. Who is least efficient?
=y 4 S3f&al BIE B3 8 sl A He TSl €, 3 53>
¥ 18 #aw st EH B 2R A BeABAE 3T 5 zaft

gﬂaﬂaﬁa’fﬂ’wmmtlmmwaﬂa

(A) Boys / B) Girls / &sfdar
(c) women | AfgeT D) Men [ &Y
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dom = Q4w , Q77. 20 men or 24 women can complete a piece
of work in 20 days. If 30 men and 12 women
¢ >©< under take to complete the work, the work will
C |
A0 M +I1QW

be completed in:

20 G AT 24 ARSC Gt S B 20 Rar A
AT HE A &, al 20 Y& d21 12 {541 &1 &2,

0% € % X 90 at a1 fhaa feal A Fara st ?
20%6 + 135 (8) @ doys
— (D) 46 days
B 24 X% xé{o; )
D = -




aﬁ#'ﬁ%aﬁﬁa?ﬁ







MATHEMATICS

By Pradeep Sir
M w )
T= 0w |00 10D
Q78. If 7 men or 10 women can make a 100
- meters wall in 10 days, in how many days 14
men and 20 women can make a 600 m wall?
XD
00
14 9420w 7 3meat 3r2r@t 10 3124, 100 ez St dare 10 o=

A Fa1d £, 14 313t g7 20 31d fASHe 600 FHiez
&adl dtare fdhaa e A gameat -

(A) 12days/ fé=t (B) 10 days/ fa=1

TR0 X 60010
" 1Yo + 4o

(c) 18 days/ fé= (D) 15 days/ fé=t

M= )oWw

) ?’X | PR EOOR ﬁ_ﬁ
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M W )
Ilm=-9w=3b |>(881D
| M +lw+lb><l x D

X6 X1 x 88

B
Cx 8
" T WRopy

By Pradeep Sir

Q79. If 1 man or 2 women or 3 boys can

complete a piece of work in 88 days, then 1

man 1 women and 1 boy together will complete

itin

uﬁl;ﬁﬂmzﬁﬁmsmﬁr&ﬂmaﬁss
e

fasit d®a ¢, dl TH Sy, T St a1 ve
SeP! [ASHDBE TP BT B fbdet el A TeH BN ?

(A) 36 days (B) 42days

() 5aoys
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hom = Gow = &op | ¢ m

><Z‘)( X m

Yot C » -;_'{7‘ ¢
ﬁa-‘_——’

|o R loxZ X1 AKX
é-f ¥ ‘S+ ~/

v+ Jow +)0}p

—X—G

N L

By Pradeep Sir

Q80. If 40 men or 60 women or 80 children can
do a piece of work in 6 months, then 10 men, 10
women and 10 children together do half of the
work in how may months?

uﬁ%g&amsomﬁammaoaa}ﬁraﬂmaﬁ

S APa ¢, a’no%
GE loaﬁﬁmmﬁmaﬁ

AT Hedl ?

(B)6

() S5 (D) “1—13

hom=GoW=&ok LeM:= A4
Mm: w: Db
¢ - Y R
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Q81. 28 men can complete a piece of work in 15
days and 15 women can complete the same
piece of work in 24 days. What is the respective
ratio between the amount of work done by 30
men in 1 day and the amount of work done by
18 women in 1day?

16 — 28 q&Y fdeft &1a1 &1 15 Rt A ¢ Add & vd 15
oML T L Wr Y AAfEesTE 32ft H1et Bt 24 fAs1 A He Tt €1 30 g&H

grer 1 f@a & vd 18 Afgwait grer 1 e # fav e
o @ /\% BT & ALY tharel: TT 3eurd g19m ?

G ER-
:4 (D)9:5
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Q82. 5 men can do a work in 6 days and 10
women can do the same work in 5 days. In how
many days the work is done by 5 women and 3
men? |

5 q&y fdeft 11 &1 6 fAat A qe1 e asa &) wafeh
10 ARSIE 3& 5 foa1 A 1 B¢ ABA 21 5 ARSI
gﬁamﬁmmmaﬁﬁmﬁﬁaﬁqm

(A) 10days (B) 8days

(C) 6days
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Q83. If 3 man and 5 woman can complete a
work in 8 days while 2 man and 7 children can
complete a work in 12 days. Then how many
women can do same work a day which is done
by 21 children?

afe 3 Y&y 3iiE 5 ARSIC T ST &I 8 fAar A Fe
dAdd g, Adld 2 Y&Y e 7 g 3eft w131 &1 12 e
A B¢ ADA &, al [bdell ARSIC T fast A Idem
B He Abdl &, fAdetl 21 T Heal ?

A) 12 (B) 15

@0 ©)20
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Q84. 3 men and 4 women together can earn
3,780 in 7 days, 11 men and 13 women can earn
15,040 in 8 days in how many days can 7 men
and 9 women earn 12,400?

3 e 4 ARSH Aowe 7 R & 2 3,780

He b g, NYSY A 13 ARSA 8 At A 2
15,040 3fAd &2 TFba ¢, 7 &9 30T 9 AR 2
12,400 fa5aat fRsit A 3ifca &e urdan 2

(A) 8 days (B) 12days

(C)10days (D) Ndays
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Q85. Works W, and W, are done by two
persons A and B. A takes 80% more time to do
the work W, alone than he takes to do it
together with B. How much percent more time
B will take to do the work W, alone than he
takes to do it together with A ?

“,__/\

W, 9T W, BT &l Afhal satel: A d2T B & grel
f52 oA £ A, W, &TId Bl Bt A A dAT B gl

fAose 3 I T A 80% 3ifees AT Sar gl at
SiTd HIfAA B AP ST W, B Head A A & TTY
Rosz W, &1 B2a 3 (33 918 T & fdaen
ufderd siftles T3 5T 2

A) 100% (B) 120%
(C)125% (D) can not be determined
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Q86. The total number of man, woman and
Children in a factory is 18. They get Rs. 4000 for
a day. If the ratio of wages of all man, woman
and children are 18: 10: 12 respectively and if
the ratio of wages of each man, woman and
children are 6:5:3 then find the salary of a
woman per day?

TS hacdl A el 3eal a2 gl &t o dal

18 21352 Wfdfest &1a1 Heat & A 4000 =UA fASA
21 af Foft smefAay, 3ieal gen =t & Ada &
Ae[UTd el 18 : 10 : 12 ¢ 3 af? uds 3neat,
3fed duT g5 & Adel &1 feUId 6:53 &, a A
HifAT v 3itea &1 vfdfds ddet fbaan & 2

(A) 2400 (B) 2250
(c) =150 (D) 2120
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Q87. 30 men can complete a job in 40 days.
However, after 24 days some men out of the
assigned 30 left the job. The remaining people
took another 40 days to complete the job. The
number of men who left the job is.

30 Jfth T &1 Bl 40 31 A Y21 &2 AdaA &, Ueeq
24 35t & a1 30 AfHAT A A B A B BI3 2
a1hl 99 EC BN A B Bl YPl deat & foT 40 e
3 3T Srf Biza a1 aAfhal & d&am a1 82

(A) 24 (B)18
(c)1n2 (D)6
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Q88. 50 men can complete a work in 28 days.
They started the work together, but at the end
of each 10th day, 10 men left the job. The work
was completed in how many days?

50 3Medl v B &t 28 Rar A PR1 H¢ ABA 2|
Jegial Th A1 fAGHe B dHeall, Ugog Udd 109
fast & 3id & 10 et &S B 23 B & fbaa
st A gergamgm?

(A) 36 (B) 38
(c)ao (D) 45




MATHEMATICS s Pk

Q89. A group of men decided to do a job in 8
days. But since 10 men dropped out every day,
the job got completed at the end of the 12th
day. How many men were there at the

beginning?

yrefRal & o fhedt o1 &t 8 fAa A Hea &1
arger faan 10 3Tt U f3at Bl &e 90
ard £ 3T 3T U & 1298 e @t Aar 2

2[&3Td A fdsaat 3maaft & 2

(a)165 (b) 175
(c) 80 (d) 90
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Q90. 24 girls work for 4 days on a project and
complete one-ninth of it. 30 boys work for the
next x days and complete one-third of it. If
after 'x + 4’ days, 24 girls and 30 boys work
together and complete the remaining work in

6% days, how many days will boys take to
complete the 3 whole work?

24 SfdBAl TP WAde T 4 f2s1 S Hedl & vd
ZHBI U g2 ot AT GBI Hedl 21 30 B3 39TS X
A BABeat vdzd &1 vHh-faeE armr
®ed g1 afe (x + 4) 3t a1e, 24 S3fdar vd 30 &3
fAes®e H1a1 Hed € vd &9 B 6 foat A qu1 Head
g, dl o3& Aese dyf H& & fFaa G &
AT Hedl ?

(A) 21 (B) 20

(c)18 (D) 27
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Q9. If 6 men and 8 boys can do a piece of work
in 10 days while then 26 men and 48 boys can
do the same in 2 days, then what is the time
taken by 15 men and 20 boys in doing the same
type of work?

6 3(Te3ft 312 8 B2 TP H1A &1 10 Al A &
THd £, AAafds 26 3Tt 3T 48 Hdb It &l &1 2
3 A B2 APa £, al 15 et 302 20 BzH) B 3t
AE BT BT B A fH el T S 2

(A) 4 days (B) 5days
(C) 6days (D) 7days
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Q92. To do a certain work, B would take time
thrice as long as A and C together and C twice
as long as A and B together. The three man
together complete the work in 10 days. The
time taken by A to complete the work
separately is?

TP BIA Bl BHeol A B DI, A dAT C & TH AT Heol
& gent A HIAT SITET £ 3T C B, A GATB

& U A1 Heal i & N[en Hera SITal 2
, gfe di=t TS A1 3 1A &1 10 ot
A HHS A B 92 BT HTat A (b dall FT S

4

(a) 20 (B) 24
(c) 22 (D) 36
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Q93. A takes three times as long as B and C
together to do a job. B takes four times as long
as C together to do the job. If all the three,
working together can complete the job in 24
days, then the number of days, Alone will take
to finish the job is.

TP DI Bl Bl & AT A D, BIATC & TH AT
®eol Bl qosell A fAI[ell HTd SITdl ¢ 3T B &I, A

ﬁzc*mmamaﬁqmﬁmgnm
&ITaT 21 afe diat safcs ve arel 33 &1 i 24 faa
& PRT e TADA &, dl A AP 38 B & fbaa =
A YT HIM ?

(A) 100 G EL
(c)120 (D) 90




MATHEMATICS s Pk

Q94. A contractor take a contract of
completing a road in 25 days and employee 28
labours. After 18 days only 2/3 of work get
completed then how many more labours
should be employed to complete the work on
time he has to employ?

mmwmaﬁzsﬁaﬂmmﬁ
fRaierdt &a g 312 28 ARl &I BT U2 SIaT ¢l

18 RAaIc ag e@ar ¢ f&h Pas 2 ngésn
38 3 AT U2 HIA araa}
FAIGE HIH U HIMMat

(aA) 36 (B) 12
(c) 32 K
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Q95. A contractor undertakes to do a piece of
work in 96 days. He engages 100 men at the
beginning. But in the 1/6 of the scheduled time,
1/7 of work is completed. How many additional
men should be employed so that the work will
be completed in time?

faseft Sdbare o fabeft &1 &1 96 fda A U1 Feat &
f&e 100 &t fdeg fAufRa Jea & 1/e

HIT A B 1/7 BT E3HTI HTHA DI HAT UL Y2T Heol
& fRu snifara ifafd FAviee) &t e -

YKL (B) 20
(c)1s (D) 10
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Q96. A contractor undertakes to do a piece of
work in 40 days. He engages 100 men at the
beginning and 100 more after 35 days and
completes the work in stipulated time. If he
had not engaged the additional men. Then
after how many days from scheduled time the
work would be finished?

TS dhere of fbaft &rf &t 40 foa A GR1 B2t &1
ool 3T, 3= 3 & 100 Al & SIMA
dar 35 a1 912 100 Al 31 FINMhe B B AA7T
e gyof e f3ar, af? ag ifdfdss aafss st Sear at
dpaagAfbaafRaaeAgar?

(A) 4 days (B) 5days
(C) 8days (D) 7days
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Q97. A contractor signed a contract ot finish
certain piece of work in 40 days. Initially he
hired 150 workers. After 20 days he realized
that work will not be finished on time and he
again hired 50 more workers and work finished
on time. If he had not hired extra workers then
for how many days work would have been
delayed by?

U 6dhale of Th BId &l 40 f3a & Heal &1 arar

fasar am e[&3ma & 384 150 Sl &1 S
20 fa1 Q1€ 3T 3T & B T UL Y21 o1& g,
dl 384 50 30T Hardt &n A 3 1 FHa U
21 911 af? 34 fAfdes Hefardt o swnd aa
&1 fdhaa feall A QRIEan ?

(A) % days (:)) 1:—0 days
(9] 1;—0 days (D) ? days
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Q98. A contractor wants to complete a project
in 90 days and he employed 60 workmen. After
60 days 3/4 of the work is completed. Then how
many persons should he remove so that the
project will be completed in stipulated time?

T® dbele of U ufdician &t 90 f3a1 & gz1 Heat
&1 3b1 a1 a1 60 3Tt S U2 &I 121 60

fRst & uyTq 35 e fh 3/4 mgﬁg%g

faat 3nmestt &1 & g2 anfe
AT R A G A-

(A)15 (B) 20
(c)2s (D) 30
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Q99. A contractor take a contract of
completing a work in 124 days and employ 120
man. After 64 days he observes that the 2/3 of
work get completed. Accordingly how many
man he can reduce to complete the work on
time?

T obale of Uah BId 124 s A ot &1 sabl faan
3 3T AT 120 =fS: fAg (A1 64 fRail arg 3@

UaT S9N &6 384 2/3 & Yz e a1 21
e o e e e
PRI He APl & ?

(A) 56 (B) 64
(c)32 (D) 96
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Q100. A contractor employed 200 men and 5/6
of total work completed in 10 days. Due to rain
the work was stopped & 2/5 of work was also
destroyed, After rain only 150 men come on
work. In how many days the whole work will be
completed?

T® sdale 200 ATefAal & &1 10 f3at & @ &1
&1 5/6 AT Hedl g1 a9l gt & TIE & BIA &b

ATdT g1 fA" H120T 2/5 HIH dBRE & Al g1 auf
d12 150 HTEfAAY B BT YT SINAT ATdl 2, al Ia1e
gR1 &1 fdhdat 3l A T el ?

(A)18 ()17
(c)15 (D) 16
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Q101. A contractor gives a contract to ‘X’ for building
a wall in 8 days. After 2 days of starting of work he

realize that he will be able to finish 64% of work in
the contracted time, so he invite Y and Z due to

which they complete the work on 6th day from

starting. At the end, if ratio of money received by X,
Y and Z is 12:8: 5 then find in how many days Z can

alone complete the work?

T dhere X &l 8 fEa A v dlare Iairal &1 &1
ad1 812 3 a1 38 uar gan & 13 9 fAafRa wer
H 64% HTH & JR1 He UTAIN FAGT 3HaA Y 32 2 Bl
&IA I Hea & BT A& AT fBar 31z Iogia sl
& fRer & B¢ fRar & Tara &e f2an &t
afe snfae & X, v 31T Z &1 12: 8:5 & Heurd A &
fae, at z 3FHST I B & fhaa o A TR1 He
(A) 20 days (B) 25 days

(c) 30days (D) None of these
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Q102. Two pipes A and B can fill a tank in 6%

minutes and 12% minutes respectively. In how

much time the tank will be filled by these pipes
if they are opened together?

a1 UT$y A 312 B TS & &I wael: 6 fAete 32 12;

fRete & ofz aFHa 21 af 2t uTdy ve @ WS e
ATC Al & B! 3T A B dal AHT BIIM ?

(A) ﬂ min (B) ﬂmln

(9] E min (D) 20 min
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Q103. A pipe can fill a tank in 5.5 hours and a
second pipe can empty it in 4.4 hours. If both
pipes are opened together, then how much
time will it take to empty the tank completely?

T U2y fdeft ht &1 5.5 Tve A urelt & s Ahar
3z T B PIE g UEY 4.4 U A TSI B
awdl g1 afe Tt Yufaan ardt g &1 3ie Sta ardal
&I @i f2ar &re, at &6t fhaa aaa & @St 8@

wreft -

(A) 5 hour/a0e (B) 20 hour/=ve
(€) 4 hour/[a0e (D) 10 hour/=ve
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Q104. A pump can fill a cistern in 2 hours.
Because of a leak in the cistern it took 2% hours

to fill it. If the cistern is full, how much time will
the leak take to empty it?

TS U bt et &t urelt & 2 Hel A o TAdHar 21
bt A uref Raat & sae! ezl & 2- HUe &914 21
aﬁg{éﬁ,nﬂﬁaﬂ%mﬁmﬁmﬁm

gt 2
(A) 15 hour (B) 14 hour

(C) 10 hour (D) 12 hour




MATHEMATICS s Pk

QI105. Pipe A and B running together can fill a
cistern in 6 minutes. If A takes 5 minutes less
than B to fill the cistern, then the time in which
B alone can fill the cistern will be?

UTET A 3i12 B U AT TH bl &l 6 fAae A are
THd 213 A ThHl &Y sl A B A 5 [Aee A T1a
SdT 2 dl B (B SI Echl bl 3|

(A) 15 minute (B) 10 minute

(C) 30 minute (D) 25 minute




